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@ AT SE o
o =(8 X Pxb2/t2=(0.750 X 0.0027 X 5402)/42=37N/mm2 < 157N/mm?2
@ WmKRI-bHS
6 =(a XPXbI/N(E X t3)=(0.140 X 0.0027 X 5409/(2.0 X 105X 4%)=2.5mm
fmb#HZE=§b=2.5/540=0.0046=1/217 < 1/160 ---- OK

(2.2) EFED/NE TR ORI
D f5RH &0 TE (BNHAE, 4 0EEL L THETS.)

0.0054N/mm*

R

1200-600
=600

a=600

a=

- N
!
|
|
|
|
|
L
: P=0.0084 b=1400
N/mm?

0.0114N/mm?
A
@O TEP

P=(0.0054+0.0114)/2=0.0084N/mm?
@ feoifetia, WEHERES
IR T b A R e - IS REER P OMEZ LA L TR 5,
b/a=1400/600=2.333
To b AR E - ISR R P OE L HFIHH L TRk 5356
a =0.0275+0.0015 % (0.333/0.500) = 0.0275 + 0.0010=0.0285
B =0.495+0.005 % (0.333/0.500) = 0.495+ 0.0033=0.4983=0.498
@ BARMITIEAE 6
o =(B XPxa2/t2=(0.498 X 0.0084 X 6002)/42=94N/mm2 < 157N/mm2
@ mKR=b&4 S
5 =(a X PXat/(Ext3)=(0.0285 % 0.0084 X 6001/(2.0 X 105 X 43) =2 .5mm
TR = § la=2.5/600=0.0042=1/238 < 1/160 -:+- OK
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2) iR LV b (BHMWE, 20EE - 230X FLE LTHETS.)

I AR = AN
| iq{lﬂ \_}. g
2 =
T e
= n
SRV
|
‘ P=0.0027 a=1400 J
‘ < Nmm? >
0.0054N/mm?
K JE (%] 8l B ST I

© WEP
P=(0+0.0054)/2=0.0027N/mm?
@ FbHfrEia, ISHRES
P EOUT T b AR E - IS REER T OFE A L FIRE L TR® 5,
a/h=1400/540=2.593
o258 - IR EERPOELZ LA L TRO 554
o =0.115+0.013%(0.093/0.500) =0.115+0.0024=0.1174=0.117
# =0.730+0.010 % (0.093/0.500)=0.730-+0.0019=0.7319=0.732
@ FRETEAE o
o =( XPxb2/t2=(0.732 X 0.0027 X 5402)/42=36N/mm? < 157N/mm? ---- OK
@ FeRf=bH o
§ =(a XPXbHEXt3)=(0.117%0.0027 X 5409/(2.0 X 107X 43)=2.1mm
fobhHE=§ /b=21/540—0.0038=1/263 < 1/160 ---+ OK

(] SHEFBRICES S
PHAE SR AR ONUE L, EHRECHEIKE bicdmme L, o, UTFOEELZHERL 7T,
(1) EHRIiZ2WT
EHROESZ, BTar 27— b2AWTEETL L2450 T5, 2L 2WRHK
LET,
(2) Iz T
st (C—100X50x4) %, [HEROEH)H600mm (EEFHS550mm) O EIZH
DAFFET,
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[32=T0N/mm< < 157TN/mm?2 - OK

o7 (mm)
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1/160
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